EGER NAGYDIJ 92/1
Course data

Course : 1

Length : No.
Calculated length : 2914
start : R finish : C

Controls BB BC BD BG
BR EA EC ED
BF BT EP XX

Course : 2

Length : No.
Calculated length : 2068
start : R finish : C

Controls BA BC BO BN
BZ EF EG EL

Course : 3

Length : No.
Calculated length : 2058
start : R finish : C

Controls BA BD BM BO
EF EE BU BR

Course : 4

Length :
Calculated length : 1988
start : R finish : C

Controls BH BL EY EM
BN BD BC BU

Course : 5

Length : No.
Calculated length : 1216
start : R finish : C

Controls BE BN BV BX
EG EY EO XX

Course : 6

Length : No.
Calculated length : 1482
start : R finish : C

Controls BA BE BO BV
EX EY EO ET

of competitors : 123

EV EW BS BL BK BP
EI EN EM BZ BW BM

of competitors : 103

BM BH EX EY BP BX

EN EP ER XX

of competitors : 113

BV BW EC EH EN EM

BK BG BH BS ER XX

No. of competitors

EL, EH EF EC BY BV

EE EG ES XX

of competitors : 80

BY EB EE EF EH EL

of competitors : 60

BY EB EF EG BU BI
XX

82
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